WAECIR B 32 H S8 B AR R R

(20254 FF)
REK = A E 0B RE
i H AR B T4 R MRS i H M| Ha—EIE | SE 35 e B
B
EEEH LETHREEAZ RS S SLAL LW EBRHEAFR O
THRIFF4E B 2025-01-01 THRI5E R H 3 2025-12-31
i H % & 558 FEEREHEDH 4,972,540.00
WS4 N Her. HEMBEREK 4,972,540.00
TEEERS 0.00
Hihgr & Hin% & 0.00
TS PSTNER .- -
PR E R A O 724N IE RIS AT, PR EUE L L
0738 SR BASN T 100M. ALK MRS S, FHR
HAEACEERE 7 BT RER R I I, fifes LT A5 K
T R K = A X 0 PR B B4R, TR
H BURFERTT, X AR 55 BURFER T AN A b B 3 = AN
45 % F85%.
4
H
bR
— R Febr i = ARER FEFE(/IH) f8hRME
RIS £ AT A <3150. 00 (GG/IK)
T H % g2 R 22 itk 3 BT AR <6397. 00 (5T/¥K%)
L ) B B A <2000. 00 (7T/¥K%)
AT bR ST RA SR bR T2 B R - 34 B Rl A <30.30 UG/ P AH)
Bl 2B AT e o <496000. 00 (JG/%%)
SHAMNR SV GisAiT i 9% (O TURA) <791600. 00 (FT./4F)
FHL 2% B4 =1. 05 (Ju/ T ECHT)
B P ARAT T 2= <2.00(K)
BRE F G W E <10. 00 (%)
rO LB AT R T AR =991504. 00 (-T-FLI)
&
“ié B 6 b WO LB T4 T =2. 00 (%)
b
7= bR STANIRSS - G 3E AT 4P TAE =2.00(K)
H % B & TAE =67000. 00 CE A A H)
2R AR <14.00(R)
R bR PG s T TR AR =100 (%)
BN EEY A s L RIS T 4P TAE 58 i S i T st
BB R ]
PR G R (=P A 2RSS Tt
VG L
AR & F 2%
EIESES8-ATE=Y 7N KR LS E 4T fid 4=
T Ha%ﬁlif%ﬁ S5 I 45 o 2 1 >85. 00 (%)




WA B B 32 H S B AR R R

(20254 FF)
H R = A B R R %S
i B 2R 1 2 IREHRIC L & BITF B R Hibh—BEIE | HEZH R Bk
312025
EEI LWBHREEARAZ RS S AT LETEBREAT T AL
THRIFFE B # 2025-01-01 THRI5E R B 33 2025-12-31
T B % & B8 FEEREHEDH 5,000,000.00
e Hr: JEMBERR 0.00
THEE  ston: precrs
TEEERE 0.00
HAib%E £ HAeh#E & 5,000,000.00
10 20k H bR - .
(2025 4-2025 4F) FEEEER
Iéj AT ARG T &, THRBIRALFERE J7, Ba ) RERR
= He135 ﬁ%éi@fﬁétﬁ&%/\k X R PR 1R
% BREARAR, TR MEA MR T SR B F L B AT,
% o AR 55 BN 136 75 P ANIG T-85%
b
— By 7 =173 =8 FEE(/TH) f8hME
Z2 i B BT A <8990. 00 (FC./¥K%)
LR B AT A <2000. 00 Ut/ A\K)
AR bR 5t AR FR
B BIZHER B AR MRS % (A TURA) <3830080. 00 (FT./4F)
BEIPFARAS I 2 BT A <22000. 00 (FT./¥K)
ZEIPHARAZ I VAREL =1.00 (&)
SN AR 2 AT H WS 3R <12.00(¥%)
5t BARE RS <20. 00 (%)
é HRHE bR
b XM ST G Ak =1. 00 ()
kit
it 7% i T R S R T =4. 00 (k)
St A IR 4% B =5.00 (%)
Ii§ski=p Xof AR 55 7 iR P =380. 00 (%)
INSEiERa I H 58 A (] S Bk
GG Ei=L N 2N Y G (=1 A B R %% G
TR L A Mo >85. 00 (%)




